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CLASSE 1 A LICEO SCIENTIFICO 30 Novembre 2017 Calcolo letterale

Semplifica le seguenti espressioni:
. 0,3x%y—(1,6x%y) + (—=1,5xy) + (—gxzy) —(0,5xy) — (1,2 xy — xy) —x%y
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. (1—10x3 +2x3-0,3 x3) (—5y2) — (%_ 1) (3x3y?) — %Sxyz (_éxz n %xz)

1 3 1 15 4
— (43 3 _ 3 _ 2y _ (= 3.2 2(__ 2 —
_(10x +2x 10x)( 5% ( 3)(3“') e ( 15x>

9
= §x3(—5y2) + x3y% + x3y? = —9x3y? + 2 x3y% = —7x3y?

. —a*b?:b + a*b?:(—a) — a*b3: (a?b) + (a?b)(ab) + a?®(a?b) + a?b (—b)

= —a*bh — a3®b? — a?b? + a3®b? + a*b — a?b? = —2a’b?

. [nyz +x(—y)*+ (§x3y4) : (%xzyz) + (—xy)z:x]2 : (4xy?)

= [2xy? + xy? + 4xy? + x2y?%:x]%: (4xy3) = [7xy? + xy?])%: (4xy?) = (Bxy?)?: (4xy3) = 64 x2y*: (4xy3) = 16xy

1207 = (P +H{ % (B) -y = 257 4 3x (-0 - (Cod o))

= —[4x* + y*1 + [2y)° - (x?y® — 2y° = 3x* —x?y")] =
= —4x® —y3+ (8y> +2y® +3x%) = —4x* —y3 + 10 y® + 3x% = —x2 + 9y3

. (aZn)n+1: (an)2n+1 + (an+3)2: (aZ)n+2 — 2

2 2
= g2nitn, g2ntin 4 42n+6, g2ntd 02 — oM 4 g2 g2 = g

) [(2n+3)2(22n—1)2] . [(_ZZn)3 . 23] + [(Zn)1+n: (Zn)n] . Zn

= (23n+2)2 ; (—26n.23) 4 2n+n2: 2n2: M = 26nt4, (_p6nt3) L onign — _p 4 1= 1



